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Part - 111 (General Knowledge)

g W e EEEW R 9
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sy & wae ferh Ao 7
A ¥ 200 A T 300 WA E

(B) v 300 W ¥ 400 BF WE
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1.

Hecemby Samnjwadi Govermnment in Utsar

Pradesh has appoved an increase in monthly

pension for oldage citizen. What i3
otz and revised pengion amants 7

{A) T200%0 T 300 per manth

(B ¥ 300 to T 400 per month

(C} T 400 10 ¥ 500 por month

L@Y"Sﬂﬂm!ﬁwpﬂmm

8

- B

(1]

Emﬂmyw!ﬁ!im’fmhn'ﬂﬂnrﬂrﬁﬂd
‘Aﬁmhward’fuduﬂlﬂnnﬂﬂmwnf
Imcdia 7

1) Sreeiesh Ravindran

{B) Abhilash Mahatra
() Dabita Komar
D) Satith Spvalingam

Wha has been swarded OSCAR in the year
2016 for documentary film catogory 7
iAj AF. Rehman

(B} AsifKapadia,

(C) Decpn Mehta

(D) R Balli

Which of the following pains is incomeet 7,
iA) Babumoma - Babut

(1] Ehﬂhjﬂhl.lln:ﬂ'll-HHH.Tl-lHI

(€} Humayun nama - Humayun

(D) Tuauk-e-Jahangiri - Jahangir

On recammendation of which of the
foliowing, the provisions Rt Fundarmental
duties were added 1o the {Canstitution of
india 7

{4} Baiwaet Rai Mebia Commitige

B} Swarn Singh Commities

{C) [yengor Commiliee

(D) Thakker Commission
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32,

EES

34,

AA) 60D

/AT — 11 (A= iy adern)

Part- Il (General Intelligence Test)

wom @ o e #) T Row @
R d asa k) I T
# ol &1 P Twen ¥ wfm #
FED WA A T owa g ?
(A g

(B) T o

(<)

(D) i

e e ¥ 7ot fremdt -1 & wief
BT 3R 60 Fremedt -1 9 el g
15% fremdf et S F arpeind gm
waf 270 firemff 2t aadt # weim)
EY | fronfifat o apw e fawrh & 7

(B) 580
(C) 560 (D) 540
el smmame wme frewr s
463 795 & = ofE 2 W oo R
er-u oo & gitaite oy fm o
o = fE w e ER Y

(A) 12 (B) 24

(C) 36 (D) 48
frfafem v & & o goen #
T A e 7) @ wm 9w o
i ?

a 18 (-2

(A} 37 (B} 47

&y 54 Dy 42
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31, Ajay and Vijay are brothers. Ram is father

of ¥ijay, Kamla is Ram’s sister, Prema is
Ram’s niece. Shubha is maternal grand
daughter of Kamla. How is Ajay related to
Shubha T

(A Brother

(B} Maternal Unecle®s Son

A C~Maternal Uncle
D) Mephew

3L In a exam 70% candidates passed in

paper-l and 60% candidates passed in
paper-I1. 15% candidates did not passed any
paper, while 270 candidates passed in both
papers. Find out total sumber of candidates

appeared in the exam 7
AT 500 (B) 580
(Cy 5&0 (D) 540

33, If a rectangular block of 4x6x% em

dirmension is cut into small cubes of side
2 cm each , how many small cubes can be

g

Formed 7
(A) 12 .\_@/y
(Chy 34 (D} 48

M. Examine the given figures carefully and

identify the correct logical option that can
replace {7 ) sign.

16 84 256
19 25®1m 35@144
4 8 b e

-]
(A) 37 (B) 47

) =6 \_}P(ﬂ
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37,

fyferfin we & @ s # W
e s (7) ® v oY W A Y

1330, 1197, 3375, 4913, 7

(A) B2ES
{C) 6859

(By M0
(D} G826
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(A} 20 (By 22
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€y 75 (D) 45
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35. Complete the series from the given opfions

a7 )sign-
W Wi
1331, 2197, 3375, 4913, 7

[A) E183 By 70
39 (D) 9826

34, A dice has been shown in four different

positions as follows. Which enumber is on
the opposite surface of number 37

SHEREDEE

m ap @n  av

(A) 2
(4

B 3
o o

7. How many rectungles ase there in the given

figure?
b B ..-t‘r
.:- Ll | -
+'-i"" '
r11: s
A} 20 (B 12

o n \y{ 29

18, Ifaclock shows time as 7 hours 30 minutes

then what will be the anghe between hour

hand and minute hand 7
(&) 120" B 95
cy 75 ‘_;Di" 45°




39, 79, T ¥ 315 i o # ol g,
™ W 70 wenE wm #) afy g W
W JEAT T G o1 A W W
frmfmgsmen ?
(A) PR
(©) Wear

40, | et fired STt # e
sg%, 4gvd, 3uvd ud 2uve § W
vF w8 4 v § wyn wfEm fasm
orven & | o e Y T wEE s S
o & T oE w8 e S
a1 A | afE wer w5 ww
& and T 1-50 off wver § ot w5 e
fowersn €rm 7
(A)y ¥ 1650
iy TI%50

(B) TEaAR
(D) wfFER

(B) T1800
(D) 22000

41, P wm & firs & o sim & g
wemsit @ g T AR € T aen
4 urmms o (7) & w8
foepey o 7
115392 T2135 1 : 23687 : T
(A) 36999
(B} 47261
() 12968
() G598

42, Frefefam & mf <o # wEwTES

39, Ram is elder than Shyam by 315 days and
Krishan is elder than Ram by 70 weeks.
If Krisham was bom on wednesday then
which was the day on Shyam's birthday 7
(A) Monday Wednesday
(C) Friday (D) Samurdxy

40, There are four candles which can burn
for 5 howrs, 4 hours, 3 hours and 2 hours
respectively. All of them are lighted at the
same time, They are kept lighted till the time
3 candles are finished. If the cost of lighting
each candle is T 1-50 per bour, what will be
the total expenditare 7

(A} T 1650 By T 18400

i 21400

41. Two group of numbers to the Jeft side of
the sign : ¢ are reloted fo each other in a
Iogical manner. Sebect one number from the
given options to replace (7 ) sign in the
same logica) manner.
ltSH:ﬂllﬁ::HﬁfT:?
[A) 36999 '
(B) 47261
VBT 12068
(I 6ol

42, Find the missing number in the following

ftre (7) & = = w7 sericsat {7 )-
49, ¥ R I
Eq En [ E 9" Iq_1l-_1 RE ;
17 19 17
) 5 ® 5 & g™
20 29 20 »
() T (I 19 ) = () 153
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43.

45,

DOVE-20ME (B)

Rreffen &1 T AfwEn # S
fore (7) & v W T HET 7

1, 5. 14, 30, 55, 9, 7

(A) 121 By 136
(Cy 142 (D) 140

. ﬁmﬁﬁﬂﬂmﬁmﬂim

foren il wO @ waiam §) 9
o g T e § -

(A) ST e

ﬁmﬁwm:mmmﬁm
fr iy ) T el A A P T
ﬂfﬂuﬁtﬂitﬁrﬁﬂﬂ'ﬁmﬂs
gt < w78 T o e | 39 e
= g |

INTERVENTION

(A} ENTER

(B) INVENTION
(C) INTENTION
(D} ENTERTAIN

oF =R A.B,C.D.E3iR F, i =i
o it @ argam o ofterdt A R E
£ faein o df o o A W &) DLF
# wd s gEe WA W R GEW
e & afre D@ Rt wepE BB,
F o wErd &1 I e R
m B & wam we k7

Ay D

(B) F

€ A

(D) E

“_N_—E_._—__

(sl

43, Choose the comest alterative from the given

unﬂ-ﬂmtuﬂlmmﬂ:t:ﬂjmﬂriﬂni{?}-
- = B
1. 5 14,730,755 91, 7

(B) 136
(D190

(A) 121
() 142

: Inmi:quﬁﬁnﬂfﬁuwmrd:hm:bnm;htn
put of which thres are alike in some
anner and fourth one is different. Chobse
ot fhe odd one -

(Al Acharya Kriplani
(B} Dr. Radha Krishanar
g .V, Raman

() Rajagopalachar

45. In mLquﬂlLﬂDnTE*ﬁdhﬂmﬂmm

annpﬁum.Thm!ismﬂrnmmhn“hlch
canmot be made using the alphabets of the
given word. Choose cut the odd one -

INTERVENTION

(A} ENTER
(B} INVENTION

iy
(D) ANTERTAIN

46, Six People A, B, C, D, E and F, are EALting

in twa rows with three people in ench mow,
E is pot sifting a1 any end of amy row. I is
ﬁum;mhhﬁﬂ[-'whmmﬂ ploce.
C is sitting next to E and diagonally
opposite to D, B is sitting next to F, On the
basis of given information who i4 sitting
opposite 1o B 7

(A) D

(B) F

)y A

‘_5]}}"5.
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By Taore e

{cy i e

{0y i =R

wh werATE # O W $
MR WA A 7

Ay e arEEae

By % A

(Cy e R

(Dy o A

arfe = B g fend A o
i1 R

(A) WA — TR

{B) HEEY - ¥

(C) arderon — weopR A

Dy T —

qﬁraﬁ‘:#ﬂmﬁﬂmﬁmﬁmm
(IRON) F et wn el & 7

(A ETHT 20 - 2%

(B T 25% - 2T

() T 40% - 42%

O e R B

fren & mf 20617 & WO TAC W
wren o ff e o e A S m
wrE 7
(A) T
(B)
jcy dtam
o) BE

5.

3T

58

e
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For the year 2016, which Indisn player has
qualified for boxing in Olymies ?

(A) Devendro Singh

(B) Vijendsa Singh

(C) ShivaThapa

(D) Dinesh :-:m\:/

Whe preceded Chakrovarti E.u_mppul:hi
a8 the Govemor Generl of

(A) Lord Mourthaten

(B) Lord krwin

(C)  Woeren Hastings

(D) Lord Memo

The Second Batile of Panipat was foaght
betwosn =

(A} Babur=Lodhl .

{B) Akbar-

{C) Al Rajn - Chandmgupta Muarya
(D) Akbar - Lodhi

What iz the percentage of IRON, in
chemical composition of carth 7
{A) Approximately 20 - 22%
B Approximately 25% - 2T%
(0} Approximatehy 40% - 42%

Whﬂtﬂyiﬂh}ﬁ

For the year 2016-17, in terms of defence
budget, what is India’s rnking as compared
1o other countries of the world 7
(A) Second
(B} Fourth
{C) Fifth "
() Sixth
[ Turn Over




66, gl wem (Bimary number) 1011 %7
TYET FAGE w0 OET 7
(A) B
(B 9
€y N
(o 15

67, Prefafan § & 7 ey W ®
et T R 7
(A} PPP
(By FIP
(C) URL
{0} EPF

&g fell wemE 4 F-oi W e
o T W s W
faw wwen & 7
{a) CTRL+K
(B) CTRL+A
(C) ALT+FS
(D) SHIFT + A

g9, farelt Tz 1 Permanent Memory T07
wEam & 7
(A} RAM
(B} CD-ROM
(€} ROM
(D) CPU

70, WD ST ® IR 368 T W
fei & 7
gAY T s & oA ¥
(B) wita= Fenm wism @
(C) ST Sae W
(D) Teate smam & o9 A

DOVE-2016 (B)

65, What will be the decimal equivalent for
binary number 1011 7
iA) 8
B 2

s

L

&7. Which one of the following optioas is nol

inted with computer system 7
P

(By FTP
(Cy URL
(D) EFF

&8. To sebect the entire text in & document in
computers, which keys should be pressed ?
() CTRL+K

CTRL+ A
(Cy ALT+F5
{0} SHIFT + A

&%, Permanent Memory of s compuber is known
i -
(A) RAM
(B) Ch=Rix

e ROM

D CPU

70, ) Ariicle 368 of the Constitation of Indis deals
wilh =
(A) formation/establishment of Finance
i
(B} process of Constitation amersdment
(C) emergency regulation

[13]

(D} formation/establishment of Election
Commmission
[ Tumn Creer
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gefl o aniware feem g 7
(A) 5999 faidree
{B) 6371 frEreTEy
(C) 6990 e
(D) 5066 fFeee

TR WeW Ten § fFw W § R
wam waE waE k7

(A} ¥

(B) ==fm

{C) Trmge

i) e

TR T T 9 T 201617 W AieE
T I T 0116 & wRs
woE e @ e o e aiim
st g &7

[A) 20-12%

(B) 1860 % -

(Ch 1481 %

o) 1210%

Cfrm W @ frwEd 9N WEW 9red

% T I e W T s 7
(A St TR TR

(B) st gad e

€y 4 ariarars =frereme =0
) A T I T

wof o1 o oYY @ WU W
T-TET T W WA WA W
&7

(A} 661 Tfr =t firmrEy

(B) $73ufx o Ry

(C) 828 wity o el

(DY 785 i w firade

7.

T3,

What ks the radies of earth 7

(Al 5990 Kilometer
6371 Kilometer

(C1 6990 Kilometer

(O 9066 Kilometer

Which district in Uttar Pradesh has the
highest sex ratio 7
iA) Azamgarh
(B} Deorla
iCy Gorakhpus
Jaungur

What is the percennge increase of anmuml
budget estimates of Uttar Pradesh for the
year 2016=17 a5 compared 1o the original
budget estimates of Uitar Pradesh for the
year 2005167

(A) M-12%
By 1B-60 %5
(C) 1441 %

P 1210 %

[14]

74, Who amongst the following has never

served a5 Govermor in the Utiar Pradesh
state 7

(A} Sh, Chondm Bhaou Gupta

(B) Sh. H.P Mody—

(T} Sh. Konnivalal Manckial Manshi
(D) Sh. Bargala Banakrishna Rao

. Agcording to population ceasus 2011,

what i# the population density of Uttar
Pradesk: siae !

(A) 661 PerSq. Km ¥

(B} 573 Per Sq. Km.

(C) 528 Per Sq. Km.

(D) 785 PerSq. Km. /'




76, TiFE TE W1 ETE TR @ W S W
wm
(A) HTE TR
(B) I TE
() qWHE
(D) JEwty T8

77, "o wurR” o v A W @ 7
(A} T I AN I
(B) vl R
(Cy T TErTS EE
(D) TrE T A

. sreiefrn witen fios o e W
!-1'

() & wmd

(B} & el

([} 5ﬂmm‘

(D} 9 I

. e Wiy von o = @ e T
w Ot fism w7

(Ay o 1oee #

B =i 1paz A

() Wi tpeg #

(o) =F 1901 &

. g wr=em o fre e o g
=1 w6 W e oy P
(A) T T AT
(B) R B A
(C) BTE w7 | S HETE) W
D) Fasren smeEEA

76. Which planet of our solar system is alsa
known as ' Red Plopet’ 7
VT Mars
(B} Venus
(Cy Meroury
(D} Japiter

77. ‘Who was the founder of * Arya Samaj’ 7
(A} Raja Ram Moban Roy
(B} Swamb Vivekenand
Swami Daynnand Saraswati
(D) Raja Radhakant Dev

7%, 'When I3 the “Intemational Wemsen's Day™
celebrated T
3™ March
(B) 3" August
(C) 5™ September
(D) 9™ November

79, In which year, was Urdu declared ns
second official language of Uttar Pradesh ?
(AYA9BE
(B) lo82e
C) 1989
) 1991

B0, Forwhich movemesit Mahatrma Gandbd gaove
the slogan “De or Die™ 7
{A) Poomn Swarnj Resolution
{B) Coust India movement

o 4%)  Dandi March (Sal Manch) movement
(D) Khilafal movermeni

FkogkkE
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